g4

*EEEDESHHOIELIIC. ENZENHEIIZZAT L&D,

9000g = kg 3kgbg = g
2kg100g = g 7kg10g = g
KX ZNZTNDESZLSSNRT, = < >ZEDIDN>TITEAXL& D,
3kg 3200g 8200g 8kg200g
5kg20g 520g 12kg 1300g

9kg400g - b5kgb00g — kg g
1kg300g + 2kg30g - kg g
5kgbb50g - 3kg200g — kg g
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g4

*XEEEDESHHOIELIIC. ENZENHEITZZAT L&D,

9000g 9 kg 3kg5g 3005 g

2kg100g = 2100 g 7kgl0g = 7010 g

KX ZNZNDESZLBNT, = <, >ZEDIDO>TCIAXL&D,

3kg < 3200g 8200g = 8kg200g
5kg20g > 5209 12kg > 1300g

9kg400g - b5kgb00g — kg g
3. 900

1kg300g + 2kg30g — kg g
3. 330

5kgbb0g - 3kg200g — kg g
2. 350
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